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Who among the following was related to The Murder of Mr. Rand at Poona ?

.(A) Bhagat Singh (B) Bal Gangadhar Tilak
(C) Chapekar Brothers (D) V. D. Savarkar
AreRifa & @ Powe wEn g ¥ fr A A W A0 7

(A) wia R | (B) & Tt Riweh

(C) R ¥ (D) & & wEE

In San Fransisco conference, UN Charter was signed by members.
& wifges g ¥, LU, 9 W waed ¥ ewme T A

(A) Sl (B) 42

(C) 35 (D) 193

In which:Article of United Natic_ins Charter, membership is mentioned ?
@ﬁwm%aﬁﬁﬁmmﬁmﬁmwﬁm% ?

w4 | ®)

(C) 6 | : D) 7

The Congress session of 1889 at Bombay was also attended by women, who amongst

the following did mot attend it ?
(A) Pandita Rama Bai (B) Sarla Devi Chaudharani

(C) Swarn Kumari Ghosal (D) Ramabai Ranade :
1as9efm§ermﬁaafmmmﬁq&mﬁwmmﬁwﬁ_'ﬁmm
Y zq¥ i WYt 7 o

(A) uitsa omEE
(©) et gl g

(B) @t da STl
(D) TIEE T

Who among the foltowing participated in the world Parliament of Religion organised

in Chicago in 1893 7

(A) Raja Ram Mohan Roy (B) Swami Vivekanand

(C) Dayanand Saraswati (D) Ram Krishna Paramhansa
P & 1893 ¥ o v o e & B A Ree ww R

(B) @M R

(D) TS THeS

(A) T TH Higa 1A
(C) TUFE wT&r
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Who invited Gandhiji to lead the peasants of Champéran ?

{A) Rajendra Prasad (B) Rajkumar Shukla.
(CY Brij Kishore Prasad Singh (D) Bindeshwari Prasad.
TR & foRE B AT BT & ey el @ Rped sty faar
(A) ez 99| (B) TSI Spa |
(C) w9t Resik ware g (D) Tz 'ima

Which country was known as the ‘Sick Man of Burope’ 7
(A) Austria (B) Prussia

(C} Tlurkey (D) Poland
fh 39T W GO @ e W e Sar @ ¢

(A) snfgar (B) wiwn

(C) gt (D) dwroe

Whe was the founder of "The Indian Association' ?

(A} Surendra Nath Banerjie (B) M. (& Ranade

(C) Dadabhai Noroji (D) Gopal Krishan Gokhic
& sheom cEifie & gemas W o ¢
(A) Gy T (B) w. o). TR

(C) T s (D) ot FwT PR

Madras‘ was restored 10 the English by the French through the t-rcatv of :
(A) Aix-La-Chapelle, 1749 - (B} Pondicherry, 1754 ‘

(C) Se%lbal. 1782 .. (D) Manglore, 1794

uﬁw FI uE oA & T wiver R war 3w Ay % wemm @

(A) CggE—wT-9e, 1749 (By uwvd@rll, 1754

(C) wwer, 1782 (D) ¥R, 1794

In which one of the followi din
: oOwin hi g Pl ' .
time ? g Mughal building was 'Pietra Dura’ used for the {irst

(A) Buland Darwaja (B) Humayun's Mausolcum
(C) -l-_tmadud—dau!ah‘s Mausoleum (D) Panch Mahal

Mt & ¥ RF o sad § e s @ waw R gde e T ?
(A) g aTamn (B) T 1 wHaw |
(C) mg@m BT TEGT (D) Y9 wew
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“(A) 2500 BC to 1500 BC

Who was Maharaja of Jodhpur at the time of the revolt of 1857 ?

(A) Maharaja Takhat Singh (B) Maharaja Ram Singfl
(C) Maharaja Ajit Singh (D) Maharaja Jaswant Singh
1857 % @ % T WUyl % TERET N d 7
(A)Wmf@% (B)HFITI'G‘IT'H‘?&T&"

(C) T arone f6e (D) v wHEd He

Who among the following was the founder of Niranjani sect ?
(A) Saint Niranjan Nath - (B) Saint Ran?das

(C) - Saint Ramcharan (D) Saint Haridas
Rrefafag & @ @ ol @9Ea & 9wdE 9 7

(A) €& PR g (B) o RN

(C) ¥ ™ (D) wF shE™

Which of following timeline could be related to Kalibangan civilization ?
| (B) 6000 BC to 4500 BC

(C) 1500 BC to 500 BC (D) 2500 AD to 1509 AD
i § § FITE B DTS I & watad € 7

(A) 2500 9. § 1500 £, (B) 6000 %Y. | 4500 3.
(C) 1500 £9. & 500 %9, (D) 2500 % ¥ 1500 .

Which ruler of Jaipur constantly served 3 Mughal emperors :
Jahangir, Shah Jahan and Aurangzeb ?
(A) Sawai Jai Singh (B)). IS{aja M;n diigg;ngh
Raja Jai Singh (D) Sawai Ma
%h;;rrza;ﬂmjam eﬂ‘ﬁgw ARITE ¢ WERT, gmEwel eive ol Wt g § W 7
(A) war s fuz (B) m W e
(C) Tyt Tom = i (D) wems =y {i®

Through which newspaper did Vijay Singh Pathik popularise Bijolian Peasant
Movement in India ?

(A) Pratap (B) Dainik Navjyoti

(C) Lok Vani (D) Prabhat _
mww%waﬁmmm%ﬁvﬁmwmﬁ ored § afeia awwn?
(A) waw (B) & TaAR

(C) < arl (D) wHE

[ P.T.O.

16 Which famous Maand Singer was awarded Padamashri in 1982 for contribution in the

17

18

19

20

471 Y? 5

field of Art ?

(A)Y Allah lilai Bai (B) Gavari Bai

{C) Usha Chauhan {D) Mangi Bai

Rsq sty wifs i @) hon % &  dFeM & Rre 1982 § wendy § wenR e e ?
(A) swar e @ (B) wadl 9

(C) T dEm (D) =i &

Which one of the following folk dance is not performed on the occasion of Holi 7

(A) QGair (B) Neja
{C) Chang (D) Panihari
Fre & wrer o g eley 9wl Rean ster ¢

(A) (B) =

(C)y = (D) dfererdr

Which one of the following is wrongly matched ?

(A) Pabuji - Kolu (B) Tejaji - Kharnal

(C) Mallinathji - Gagron (ID) Ramdevji - Ramdevra
T W g e g ¥ 7
(A) T — @i

(C) WSl — WeTenT

(B) o9=i — @
(D) THEeEst — TRE

Which historical heritage site of Rajasthan has not been included in the UNESCO's
World lcritage list ? _

(A) Fort of Chiitor (B) Jantar Mantar Observatory

(C) Havelis of Amer (D) Kumbhalgarh fort
W%%ﬁﬁfaﬁ%ﬁmaﬂﬁaﬁzﬁﬁﬁﬁaﬁ%ﬁ%ﬁ@ﬁ swftrﬂﬂﬁi%mnm% ?
(A) Fadrs @ Ree (B) Y Haw ey

(C) MY & okl (D) gewerie @ R

Two mouthed Chulha and Silbatta with large variety of pots and pans were found in
which of the following sites during excavation ?

{A) Ahar (B) Kalibanga
(C) Bagore (1)) Ganeshwar

ﬁﬁmwaww%aﬁ%mamaﬂﬁﬁﬂrﬁmﬁﬁﬁﬁmwﬁ@m‘
R

(A) RS
(C) smiR

(B) @mErET
(D) Mg
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2} The tenotaphs of Mewar Rujer Rana Amar Singh and Karan Singh are located at ;| 26 Which of following tourist attraction centre is not situated in Karauli district 7
(A) Mandore (Jodhpur) (B)  Ahar (Udaipur) ) : (A) Timangarh forl | (B) Mandrayal fort
{C) Nathdwara (Udaipur) (D} None of the above (C) Ramathra fort (D) Naharsagar kund
TS R T SRR o i @ vt (e o) oo - Pt % 3 e omed o s e o 3 R B
(A) T (sirergy) B) s (v (A) R (B) vz g
(C} g (IgTT) (D) 3% § S Wl () T Sﬁ (D) TEER 78

22 Which of (he following was authored by Virbhaan ?

27 'Limbarant is famous namc of which of the following field ?
{A} Vansh Bhaskar .

(B)  Abhayuday (A) Painting | - (B) Singing

(C) Suraj Prakash (D) Raj Roopak (Cy Sports (D) Dance
Freffiaer % fbver draw drewm op 7 Prefafea ol ¥ & Feror ufeg ™ feed wdm 3 7
(A) g1 Wt (B) s | | (A) R - - (B) TN

(C) goa wemmsr (D) wr m' o €) B D) T

23 Which place is associated with famous "Thewa Art,' ) - _ 28  Which famous Goddess of Rajasthan is associated with Rats ?

{ {\} Bikaner | (B) Jaipur : f {A) Shila Mata (B) Kamni Mata
(€) Barmer | (D) Pratapgarh (C) Nagnechiya Mata (D) Sheetla Mata
W I e wor g | R 1 A Rrea Ak wn v A ¥ 7

) ®) wag (A) e = (B) T W
(€1 i (D) g © e (D) s

24 Who was the mundcr of the ‘Bishnoi' sect v 29  Which of the following is written by Poet Kaviraj Shyamaldas ?

(A)  Dhannaji | B) Jambhoji | ) Vir Vinod | (B) Vansh_-Bhaskar
(€ Krishnadas Payhari (D) Ramcharanji ' | " (C) Prithvi Raj Raso (D) Allhakhand
T W % yodm @ g o B ¥ Y whRW e T T e i e ¥ 7
{A) T=hy (B) sl | (A) I P | - (B) 9aT-YrEt
© Fomm sy (D) < - (©) oo (D) siETes
25 Sir V1. Krishnamachari was the Diwan of which State 7 - ' 30  Which of the following is a prominent civilization of the Copper - Age of Rajasthan 7
(A Mewar | (B) Jodhpur ' o (A) Ahar (B) Kalibgnga
(C) Jaipur - : {D) Jaisalmer ' (C) Bairath (D) Bagore
T A gomErty g o % darr 4 7 | Frer & o A A=A T X g yg g B ¥ 7
(A) waig (B) g o (A) oS (B) et
(©) gy D) i | ©) #w - (D)
o 6 " | | 7 - [BLO:

[ PTO. oy
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(C) Banas river

"Ganeshwar" is located in which district of Rajasthan 7
(A) Ganganagar (3) Bhilwara
(C) Bharatpur ()Y Sikar
TR % R R N et ww faa ¥ 7

(A) T (B) feraret
(C) WER | (D) - @

Near which river was 'Bagore' civilization located ?
(A) Kothari river (B) Luni river

_ (DY -Nonc of the above
T g fhe W % Reart wi saRewr A1 ¢

(A) wrartt T (B) i @

(C) Tw@ (D) % & Fg T

"Bairath™ was the capital ot which Janapad in ancient India ?
(A) Matsya (B)
(C) Chedi | (D) Arjunay
e s TR ¥ R e @ TwEEn @ 7

(A) e | (B) uEm

(C) ¥& (D) s

Panchala

in which n&onth is the festival of Teg) celebrated ?
(A) Shraavana (B) Chaitra
(C) Vaisakha (D) Magha
B q wRA ¥ & @1 digR TR S W ¥ 7

(A) s B)

(C) duwg (1 =g

Dhaulagarh Devi Mela is associated with which distriet of Rajasthan ?
(A) Jodhpur (B) Alwar '
(C) Jaipur (D) Ajmer

e 3 @7 Hen TonA & few R A g w7

(A) SHER (B) e

(C) xR (D) T

36

37
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Which one of the following clothes is a symbol of prestige in Rajasthan 7

(A) Saree (B) Achkan

(C) Pagri (1)) Angochha
Py & @ BT o Tene@ H ufder @ gad W e 7
(A) WE (B) orge

(C) v (D) e

Who was the architect of Kumbhalgarh fort 7

(A) Atri C{13) Kumbha
(C) Mandan | {I2) Naresh
Foerg g &1 Rl @ ar

(A) a1 (B) o
() =T Dy T

Which place in Rajasthan is famous for the jewcllery of Tarkashi ?
(A) Nathdwara (B} Chittorgarh

(C) Barmer | (1) Udaipur
ATt 3 N & WY TEE F A W IE Y 7
(A) " ' (B) Frdiss
(C) =} (1) $EIgX

Depiction of hunting scenes became a hallmark of Kota school of painting from the

~time of which ruler of Kota ?

{A) Rao Madho Singh (B) Raja Umed Singh

(C) Raja Ram Singh (D) Maharao Bheem Singh
aﬁaﬁ;ﬁwsmﬁsmﬁfﬁwmfﬂwaﬁa%ﬁaﬂmﬁmw ¢
(A) T e Rig (B) T oeER g

(C) e W fde (D) werera Ay o

Who wrote "Rajvilas" ?

(A) Kavi Maan

(C) Suryamalla Mishran
T B e Reed e A 7
(A) ®tT 7

(C) qdvww Prgm

{(B3) llem Kavi
(1) Shyamal Das

- (B) @i
(D) AT
[ PT.O.
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In which of the following case it was said that The Preamble is not a part of Indian
Constitution ? _

(A} Berubari Case (B} Bommai Case

(C) Minerva Mills Case (D) Golaknath Case

Prefoiflen ¥ 9 g g ¥ 9w e T o1 By Wi Siens e oy wlf & 0
(A) 3B =@ (B) I 9%
(C) frar e o (D) ivip1el 91

The very first five year plan of India was based on the model of :
{A) Bombay Plan _ (B) Harrod Domar Model
(C) Mahalanobis Model (D) Manne and Rudra Model
A @ T o offy @ few Afew aX st 4 7

(A) T AR (BY s shy Wisw

(C) wErEiay Higw (D) # afir Ba1 wisd

Which of the following statements are correct about the Central Vigilance Commission ?
(1) It was set up on the recommendation of the Santhanam Committee.

(2) It is a non-statutory body. '

(3) I is a multi-members commission.

(4) It exercise superintendence over the workmg of the CBI.

Select the correct answer from the codes given below .
(A) Only (1), (3) and (4) {(B) Only (2), (3) and (4)
(C) (1), (2) and (3) (D) (I). (2), (3) and (4)

Prefofeg & ¥ a9 A 97 S99 Towa odm H I A g8 ¥ ?
(1) 39 TN Oy Bibfg %) Ry o &0 7. 6

(2) @8 Us duite Freem w8 % o

(3) T W YA 9 U ™A %

4) a%%mprqmwa{&(cm)aammuﬁmm%l

0 U T g @ wE I B T B
(A) @a (1), (3) &l (4)
(C) (1), (2) FIT(3)

(B) e (2). (3) o (4)
(D) (1), (2), (3) T (4)

The original Indian Constitution was handwritten by -

{A) Nand Lal Bose (B} Beohar Rammanohar Sinha
(C) Prem Behari Narain Raizada (D) Vasant Krishan Vaidya

o i wiae e gro emtvfem B 7

(A) T W S (B) =izt wawAst fawet

(C) = RErl e Ut (D) =@ $9F A

Which one of the following is not in a category of subsidiary motions ?
{A) Ancillary Motion (B} Supetseding Motion

{C) Amendment ' (D) Substitute Motion - "
Pretifes & 4 & W WeEe g @ g F T s ¥ 7

(A) oufies g ' (B) wieamas T

(C) dsnyy (D) W= 9"

| PT.O.
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The concept of Public Interest Litigation (PIL) was originaied from -
{A} The United States (B) lapan

{(C) France {3} England

AR IS B ATAR BT YW Fbg 390 9 gam 7

(A) dgas Ty ST (B) SmE

(C) wiE (D) s

The annual report of the: Compiroller and Auditor-General of India is scrutinised in
detail by the -

(A) Public Accounts Commitiee

(B) Estimates Commitice

(C) Consultative Commitice of the Finance Ministry

(D) Select Committee on Expenditure
Wésﬁuatﬁaar%ﬁ@ruﬁam%aﬁmufaﬁaﬂm%rc?rawfawr(ﬁa}ﬁ% -
(A) ®we oar dfafy

(B) wWrFmReE QiR

(C) Frg ¥r9 =7 dwwer §H

(D) =@ ¥ ¥99 ¥ yay @ifla

Inder which Article of the Constitution of india, the Governor can reserve a Bill {or
the consideration of the President ?
(A) Article 169 (B) Article 200
{(C} Article 201 (DY Article 257
Wqﬁmqésﬁﬁaa@?%mwmmﬁau%mmﬁﬁﬁwﬁ
IRMg @ aEw & 7

(B) g 200

(A) TR 169
(C) gz 201 (D) STaT 257

Which of the following schedule of the Constitution contains provisions regarding
Anti-defection ?

{A) First schedule (B) Seventh schedule

{C) Tenth schedule (D) Eighth schedule

A 2 B ol o sw-ga Rl g @ seg ¥ 7

(A) waw STTgE (B) el ergy -

(C) =Har agygen (D) ameat gl

"Rajasthan Guaranteced Delivery of Public Service Act” came into force from
which date ? :

(A} 14 November, 2011 {(B) 31 October, 2011

(C) 21 May, 2011 (DY 2 October, 2011

AN Wle War AT taiE s An e T 7

(A} 14 smmay, 2011 (B) 31 gragay, 2011

(C) 21 %%, 2011 (D) 2 sraT, 2011

[ PT.O.



51  What is share of India's export of guar in world's total puar export ?

52

53

34
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ﬁr&a%w%wﬁuﬁﬁwﬁsw%ﬁmﬂw%&n%ﬁﬂ% 7
(A) 90% (B) 80%
(€) 55.8% (D) <10%

What is the share of service sector in India's gross value added in vear 2017-18 2
wd 2017-18 ¥ wrea % wwe qer A A 4w e o B 0
(A) 25% (B) 35% '

(C) 45% (D) 55.2%

Main theme of first human development report of Rajasthan {2002) was :
(A) Inclusive growth o | '
(B)- Poverty alleviatior

(C) Inclusive growth with sustainable development

(D} Promoting sustainable livelihoods in an cra of globalization

TSI & e W ferbry qRes (2002) a1 e g o

(A) T Frpre - o

(B) it wwgere

(€) w9 fawm & @y Tk iy

(D) asdimTn % v ¥ Wl srhfE # g S

[T

Il;‘lull convertibility of Indian rupee in current account of balance of paviments took
ace in : ., |

YT e & o1 G Wl o0l B we ol @ ufradd fear w0
(A) 1994 (B) 1998
(Cy 1999 (D) 2002

The GlobaI'Rajasthan Agritech.Meet (.GRAM.) was organised in the vear of -
T T TN e e e de @) ® HENT gon &

(A) 2017 (B) 2015

(_C) 2014 (D) 2016

Who are eligible for Mukhya Mantri Ekal Nari Samman Pension ?
(A) Widow, divorced and Parityaktya women

(B} Unemployed single woman

(C) lliterate single woman

(D) Unmarried single woman _

F&T A T A W Y % B @i O &

(A) Foreran, aemmsEr @ ofeRn TR |

(B) SUWIR umd T '

(C) sfufea wwa arh

(D) erferarfsa waer wrdt

('Y) 12

{ PT.O.

57 The effect of increase in repo rate is —

{A) Decrease in hquidity with commercial banks
(B) Increasc in liguidity with commercial benks

(C) No effect on liquidity of commercial banks

(D) Increase in govt. expenditure and tax

fedt 2 & gfg o1 gma ghm -

(A) =iinfvas &pf & T8 dRET W I

(B) enforfams g1 & U@ averl H gha

(C) =rforifous dbi &) Traar 9 By ITE TR

(D) w&ll =w e sy H gha

58 Who is known as the father of national income accounting ?

(A) Simon Kuznets (B} Richard Stone

(C) J. R. Hicks _ (D) J. M. Keynes
U o TEihT B TAE The He1 T & 7 .

(A) TETT ForzH (B) fr=E wN
(C) <. ot e (D) W T, ®IE

59 In budget, the revenue deficit 15 —

(A) Total receipts > Total expenditures

(B) Capital expenditure > Capital and revenue receipts
(C) Revenue expenditure > Revenue receipts

(D) Revenue expenditure = Revenue receipts

o H T =T BRI §

(A) Fa it > ot =

(B) 9T o > ST ST e Wit

(C) " =g > e Wit

(D) TaE =g = T Wit

60 Which is not correct about Rajasthan Refinery Lid. Pachpadra, Barmer 7
(A) It is first of its kind in India which is integrated with petro-chemical compiex.
(B) Its projected cost is T 43,129 crore.
(C) It is joinf venture of HPCL and Govt. of India.
(D) Share of HPCL is 74%.
Trerar Tl . wowes, T s m e g W ¥ 7
(A) aE a1 & wad W ufdisen ¥ Rad el dRsheea waed & ane )
(B) gwa afEsr wrma 43,129 #is o0 ¥ |
(C) I8 shia o dLEGE, ST TR G B g e ¥
(D) T TahELT. @ e 74% € o :

471 ‘Y’ 13 ~
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(C) TR

(A) TG

Rajasthan Portal dedicated to provide digital verification p!atform for othmai documents
and certificates :
{A) i-fact (B) Raj e-Vault
(C) RajNet (D) e-Sanchar
% TR OEH S TS SISt 9 e 95 Bt Refredd wanie e oY glawm dm b
(A) HR-%de (B) T §-aiw
(D) 3w

When was Bhamashah digital family scheme launched in Rajasthan ?
(A) 4 Sep., 2018 (BY 7 Sep.; 2018

(C) 11 Sep.. 2018 (D) 15 Sep., 2018

TAE ¥ w9 wrnee fefea afEw gs @ gty fem e e ¢
(A) 4 fadiat, 2018 (B) 7 fdae, 2018

(¢) 11 fadsr, 2018 (D) 15 firdaw, 2018

Bluetooth technology is prominently used in which type of networks ?

(A) PAN (B) LAN

(C) VAN (D) MAN .
LY AHE H WGE W F IR RS TR % Weadk ¥ S w7
(A) W (B)

(C) (D) A

Which software can translate scanned text into cditable text ?

B AR S (0 T TR W WWET WY IR § raidd H gEA ¥ 7
(A) OCS (B) ORC |
(C) OCR (D) ORS

What is the name gwen to molecular scale computer ?

(A) Supercomputer (B) Microcomputer

(C) Nanocomputer (D) Fermocomputer
TRIER e L @ T a'm ﬁm iy
| (B) WTWQI&T

(C) *TEg (D) WY

66 The President of India has launched mobile app to raise awareness about

female foeticide and sex selection.
(A) Beti Bachao (B) Beti Padhao

(C) Selfie with Daughter (D) Meri Beti Meri Shaan
W%W#W%Wﬁéﬁwﬁaﬁﬁmm%m
qiarge Ou @ e
(A) =< wamei

, (B) &) ggran
(C) &% frg TR

(D) T ¥ A0 e

67 - How many position detection patterns are there in QR code ?

T o Bie # fee TeliyE R Yo AR ¥ ¢
(A) 6 (B) 5
(C) 4 (D) 3

68 Which is the first Indian (1nd1gen0us) microprocessor 7

(A) Parashakti (B) Bhaskara
(C) Pratham (D) Shakti
YT MW (@R TReNRE s ar ¥ ?

(A) gOeTieRY (B) w®@HT
(C) wm (D) stfem

69 Udaipur Solar Observatory has been de31gned as per model of which International
Solar Observatory ?

(A) Solar Observatory at Big Bear Lake, California

(B) National Solar Observatory at Sunspot, New Mexico

(C) Kitt Peak National Observatory, Tucson, Arizona

(D) Apache Point Observatory, Sinspot, New Mexico

SEAYL AT AL ® B9 St Jusmen % died ¥ @ gy B mw ¥7
(A) ET gugmen, B R 9, SeeiE

(B) wfm @ Jugmen, e, g e

(C) Fre I Tedim Susmen, <was, AT

(D) e wige Susten, W, < A

70 When was 'Rajasthan IT Day' celebrated in 2018 ?

(A) 1 January — 4 January (B) 19 March - 21 March
(C) 20 May — 24 May (D) 18 December — 22 December
o 2018 ® ‘T s A. Rew’ ww A w9 a@ wAwEr T ? |

(A) 1 el - 4 ey (B) 19 Arg — 21 et
(C) 20w —24 %2 D) 18 Raww - 22 Ryt
47] 15 [PTO.



71 In a color monitor. the refresh buffer is also called & 76 'Patana’ is known for the mining of :
(A) Frame bufter (B)y Pix map {A) Coal ' (By Gold
(C) Bit map | (D) Screen bufier {C) Silver (D) Copper
i vl § e Sw @t e W B E e e W % ferg e e |
(A) T T | (B) ferg iy (A) W | B) @
(C) fae &g | (D)) BB T (C) == | (D) @
72 What is the name of NASA’s unmanned lander which recently landed on Mars 7 77 In which district of Rajasthaﬁ Tapukada industrial area is located ?
(A)" Insight | (B) Shakti (A} Jaipur | (B) Dausa
(C) PSLV ' (D) E{omars (©) Ajmer - (D) Alwar
are % AERR Sed @ w8, R T A I R TE T Sarn ) F 7 oot % [ fom & eymet oelfrs & Rer B 7
(A) TR (B) il - (A) w3 | - (B) =
(C) drug.usAn | (D) wwEEY - (©) s (D) ot
73 \, Due to which factor, coaxial cable is less susceptible to noise 7 o | | 8 i;;ﬁj;ﬁsma of Rajasthan Leelwani(;—l)in; ias located 7
{A) Inner conductor | {(1B3) IDiameler. of cable (C) Dungarpur D) Udrzlj‘tir?
(C) Outer conductor (D) Insulating material : o ¥ e R & e @ R & 7 P!
mmﬁmﬁwﬁqmaﬁtéﬁﬁrwmwﬁré%r (A) v (B‘)a‘famm
(A) STARE HIF ' (B) Hua @ wH (©) T D) ‘
©) wh FRE (D) o T o
| | ' ‘ 79 In which district of Rajasthan the 'Akal Wood Fossil Park’ is situated ?
- 74 A devilce for converting handwritten impressions into coded characters lor computer (A) Udaipur | (B) Sirohi
input. is : | (C) Jaisalmer (D) Bikaner
(A) Keyboard | (B) Mouse u | T ¥ R R F o 9 witw weh T 37
{C) Digitizer (D) Printer (A) seayy (B) Fedvd
%mﬁmmﬁmwmmﬁf?aﬁwqqﬁa%mm? . ) |
| (C) #maEx (D) dT
(A) @ (B) wEd |
() _&r&,mga-{ : ' (D) B | | 86 Bailadila mine is related with :
| | | ~ (A) Copper o (B) Bauxite
75 VLS technologv was converted into which technology during the {ifth gencration 7 (C) lron ore (D) Gypsum
Wta?fqaﬂﬁérﬁvwlaﬁiﬁa%mwmqqﬁmaa%mnmwr Wvﬁ@ﬁﬂ@ﬁﬂﬁ%
(A) ULSI (8) CLSI o : (A) | | B) iRz
(C) LSI | (D) KLSI | €) #% o (D) fore
471 fY) 16 | [ PT.O. 47 (Y) 17 [PT.O.
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85

COP-24 was organised in which of the following country ?
(A) Australia (B) Poland

(C) France (D) Brazil
COP-24 1 sma™ P # 4 fpw o o gem?

(A) amgfem (B) dWmvs

(C) wE (D) st

"Manas' is famous wildlife region of the state of :

(A) Assam (B) Arunachal Pradesh
(C) Meghalaya (D) Manipur

A s e e de R g § R ¥, 9 E

(A) somH (B) arewad WeH

(C) wuw (D) =T

Mangla area of oil field is located in the state of :
(A) Gujarat {B) Rajasthan

(C) Assam (D) Tripura
e @ &y frw toa A R B, w8 ¥

(A) T | (B) T
(C) wmw (D) FgT

Which of the following animal's breeds are Choka.la, Magra and Naali ?

(A) Goat (B) Sheep

(C) Cow (D) Buffalo
et § & Rrg wael & wonfal iew, TR T AR E?
(A) =0 (B) #s

(C) ma (D) %«

Which one of the following is not correctly matched ?

(A) Applachian mountain — US.A. (B} Pyrenees mountain — France
(C) Ural mountain — Brazil (D) Tsinling mountain — China
Prefafas ¥ 4 B @ T wd gk T B0

(A) SRR a9 — g o oAtk (B) Rt wed - B
(C)wqda-wha (D) o v — 99

471 Y | 18
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87
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71 9 e

(C) Vindhya range

Which of the following combination is wrong ?
(A) Tiggywinkles wildlife sanctuary — UK.
(B) Koala wildlife sanctuary - Australia

(C) Boon Lott's Elephant Sanctuary - Thailand
(I} Sanwild wildlife sanctuary - U.S.A.
Frifra & F SiEE wgEa d §7

(A) Trfifdmeg argsie onpamvs - gagee feney

(B) eHieren FgeE seRrey - sefer
(C) 1 wieg st opyaney — uEds
(D) {Tamges qraoiE AT — HEED T ST

'"Pea Soup Fog' is especially related to which city ?

“{A) New York (B) Beijing
(C) TTokyo (D) Lendon
W YT BEW yera: fHE et A grhug 27

(A) % (B) fdm
(C) =it (D) <=

Which of the following is not situated on the coastal region of Gujarat ?
(A) Sir Creek (B) Kori Creek

{C) Godia Creek (D)} Kalamb Creek

frafafas & & 9 Towd $ ol g qU g 986 20

(A) WY ®Rs (By =l e

(C) wifean #i (D) &&= BH

How many districts in Rajasthan are having sex-ratio below the state average in 2011 ?
{State average sex-ratio is 928.) '

e § 2011 ¥ v & ofvea figea 8 w9 Rimgma vee T fea e B0 (s
e Rmar 928 %) ' ‘

(A) 12 - (B) 13

) 18 B Dy IS

Which of the following structure is northern most on the map of India ?
(A) Malwa plateau (B) Ajanta range

(D) Satpura range

frfoifes & § HFd I A F TE T FEE IO ¥ ¥ 7

(A) =@ 93T (B) oftm gl

(C) forem Sofy (D) =weryet goit

[ PT.O.



o1

92

93

94

95

411 20

In which one of the following states Namchik-Namphuk Coal field is located ?
(A) Arunachal Pradesh (B) Meghalaya

(C)y Manipur (D) Mizoram

Preifpe <t @ ¥ frg UE § AMRG-TEGE Sae 8 Red 27

(A) - &EOIEE o (B) #mer

(C) =g (D) friew

Which of the following part of globe is habitat of most of the population of Penguins ?
(A) Hastern islands near Japan (B) Western islands near Lurope

(C) Northern Polar region (D) Southern Polar region

freffay ¥ & T % SR Wi F YRR A1 oy e @ fraw 37

(A) = & 9 g&t €9 (B) 49 % w Wyl E9

(C) ol g9 & - (D) =fRnir ga &

The theme of World Environment Day - 2018 was —
(A) Stop Deforestation (B} Conserve Mangrove forest
(C) Beat Plastic Pollution (D) Save ozone save world

fase waterer fag — 2018 & v (M) & —
(A) RIS W T (B) Fwie 9 B EOH
(C) wie® U & TR BTN (D) oSl qemel fase smnel

Which of the following is associated with Acid rain ?

(B) pH of rain water between 5.7 to 6.8
(C) pH of rain water 7 (D) pH of rain water above 7

frefRfiad & ¥ Rege ww orela aot W ¥ 7

(A) aut s @& pH 5.6 T A (B) @t st @ pH 5.7 ¥ 6.8 % 9
(C) aut wi@ W pH 7 (D) ast = @ pH 7 ¥ sfum

(A) pH of rain water below 5.6

'SAFAR launched in vear 2018 is related o —

(A} Railway Reservations (B) Roads and Transportation
(C) Air Quality and Weather Foreoast'(D) Poverty alleviation

¥ 2018 § dfg Regr T WEY wAleE ¥ -
(A) @y T (B)
(C) 9y T g Wew qEigae (D)

Hedh T YT
TR ST
[P.T.O.
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The first crop plant whose genome was sequenced, is :
{A) Rice {BY Wheat
(C) Maize (D) Oat

UEHll GHE TAEEH SWEM argmina Be e g,

(A) =T (B) g
(C) wearpt (D) =3
Genetically modified 'Golden Rice' was invented to combat - deficiency.
(A) Iron (B) Vitamin - I3

(C) Vitamin - A (I All of the above .'
AT WA e 3 B ANTSHmT e BN § WY S A0 R D
a |

{A) IEE (F®) (By faeifir - &
(C) Frife — g (D) U T

In heart, Thebesian valve is found in ¢
{A) Right Atrium

{C) Right Ventricle

a9 ¥ 9O g urol W ¥ -

(A) 3 onfdg H

(C) 3R P &

{B) Left Atrium
(D) Left Ventricie

(B) I enfew o
(D) s Frerg o

Find the correct option with respect to disorders due to variation in chromosome
numbers: '

(a) Trisomy 13 {1}
(b} Trisomy 18 (ii) Patau Syndrome
{¢y Trisomy 21 (111} Edward's Svndrome

qorgst S de @ Rrewn 9 s faen & ded A P A @ ad faee gl

Down Syndrome

(a) FrpemgEan 13 () = figm
(b) rporsrn 18 (i) W fagm
(&) Drogsar 21 (i) wewH RigH

(A) (@)(iD), b)), ()-(0)
(€) (@G, (b)-(i). (c)-(})

(B) (a)-(i), (b)-(ii), (c)-(iii)
(DY (@-(D). (b)-(i). (¢)-(iii)

Which plant tissue culture technique is used to raise virus froe plants 7/
(A) Hairy Root culture (B) Meristem cuiture

(C) Node culture {I}) Ovary culture

Uy HaE & few asde ¥ faor da @ ura B3 o wwd § ¢

(A) e oo dade (B) frruigs dadw

(C) smaly dues (D) v g949

3% T
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.Antithrombin [ and Protein C have similar role as

Which of the foliowing is a blue green algae nsed as a Single Cell Protein (SCP) ?
(AY Spirulina ' (B} Yeast '

(C) Aspergillus orvzae (D) Rhodobacfer. capsvlarus

Frefafas & & & @1 A w0 daw Ted SR WER (SCP) B T W e
(A) wehr (B) dw |

(C) Tty seag (D) U=y Fgeey

Which among the following structures is not a part of brain ?
(A) Trabeculac Carnac (B) Foramen of Monro
(C) Ventricle (D) .Pons Varoli

frer & 4 T @ wvew wRaws o W R R 7

(A) TR & (B) WMZ &1 HREH

(C) ¥ (D) g e

(A) Plasmin (B) Heparin

(C) Vitamin K (D) Calcium

LD (ISR [ afre S C =1 @, R eamt ST 1 s § frwd gakm & 7
(A) wfeT (B) fifw -

(C) fefim K (D) %ﬁﬂw_

'Cooke's Arneth Count' is used to count ' .

(A) Neutrophils (B) Erythrocytes _ |
(C) Lymphocytes (D) Platelets 8
G B AN HS &I TR 2 Er % g R A R L

(A) =qgifteed (B) oftviansd -
(C) Frmrazea (D) WA
Which set of Vitamins is not water soluble 7

(A) Riboflavin, Pantothenic acid (B) Niacin. Cyanocohalamin
(C) Nicoti.nic acid. Ascorbic acid (D} Tocopherol, Retinol.
¥ o Praf g ww § geeehe a8 ¥ 7 -
(A) TEEeaN, FRfE e (B) Profe, wgRidmETar
(C) Frafefss omw, Tenfda o (D) Twdrdm, Y&

in blood clotting.

106 The rolation of earth about its axis is from :
{A) North to South {B) Souwh to North
(C)y East to West {D) West to Fast
Yl & SO aE o wha i i ¥
(A) FaT & 3R
(C) 93 o ufyem

C(B) =ferr A gER
(D) ufyem & qd

107 The outer surface of the tyres of vehicles is made corrugated
{A) to increase friction (B) to decrease friction

(C) to make the tyres attractive
Al % 2 @1 AT WAE AR SR ad

(A) =¥T Fg &g (B) =dw wem g

(C) =rdl &t enepd® a9 g (D) <=t & 9 FoM &g

108 Prcservative used in tomato sauce is -

{A) Potassium metabisuiphate {B) Potassium nitrate

(C)} Calcium propionate {12y Sodium benzoate
AR G H WORT ¥ o i SRERs (preservative) ¥ -

(A) defimm Yemrganse (B) iy qese
(C) &iwrm dienee (D) AT F=irae

109 Natural colourant present in wrmeric is -
{A) Curcumin . {(B) Carotene
(C) Lycopene (D)} Anthocyanin
Bedl W Ul 9 A Wi e & -
(A) @i
(C) wEwie

(B) Ffed
(D) TrarrERhY

110 Acid-base balance in the body is maintained by -
(A) Liver (B) -Kidacys
(C) Pancreas

(D) Spiecn
TR A4 bF g el & -
(A) TFd g | (B) T aw
(C) W 7R = (D) fereelt zrar

471 y? 23

(D) o increase the strength of tyres
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- (A) Polymethyiene pelymer (B)

13

114
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Vitamin B;, contains which metal ?
ﬁ?ﬁ?l&lgﬁaﬁ?ﬁ‘fﬂ@gﬁﬁ%? _
(A} Pb (B) Zn
(Cy Fe (D) Co

Nylon threads are made of - :
Polyvinyl polymer

(CY Polyester polymer (D) Polyamide polymer
AT Y T T P - _

(A) el sges | (B) uidfrEe Tgas &
(C) dfefloee agad ¥ - (D) dichomE Iga® §

Which of the following is a physical change ?

(A) burning of a Magnesium (Mg) wire in air
(B) glowing of a Platinum (Pt) wire when heated

(C) electrolysis of acidulated water

(D) passing carbon dioxide through liine water
Prafaflas & § S @ e aiEd T 8 7

(A) arg ¥ T (Mg) & IR B J9

(B) i BT T R (Pt) AT BT THHA

(C)  orligeer STt 1 A SR

(D) T SRERES F T B CT F T

In the following chemical reaction -

Fe_')_03(5) + 3C0(g) iy ZFc(s) + 3C09 (g)

(B) CO is a reducing agent
(D) - CO acts as catalyst

(A) CO is an oxidising agent
(C) €O is neutral

Prerffiad Tramates otk § -
F8203(5) + 3CO(g) ) 2Fe(s) + 3C02(g)

(A). CO smiiams rweds ¥
(C) CO IedH 3

(B) CO ow=Ia® s
(D) CO IO & F BTN §

The blue coloured mineral 'Lapislazuli’, which is used as a semiprecious stone is -
(A) sodiom aluminium silicate (B) zinc cobaltate '

(C) basic copper carbonate (D) prussian blue

S T W e A, P g o At v % w9 F b o ¥ ¥
(A) dfsaw ugiPem fafase (B) fie wramwez |

(C) @{F Y HIEHE (D) wirad = (g@@ )

[PTO.

116 A mixture contains alcohol and water in the ratio 4 : 3. If 5 litres of water is added

- (C) 8 fazt

117

118

719 25 N

to the mixture, the raiio becomes 4 : 5, then the quantity of alcohol in the given
mixture is - '
(A) 10 litres (B) 9 litres
(C) 8 litres

we o F Uemiere aut Uy 403 % arwra A ¥ 1 ol 3§ Prye F 5 fee orlr ot B
foar Wl A UE OIUE 415 € wer ¥ 1 @ R v frgor o Urepleie B AR B~

(A) 10-%2'(

(D 7 i_iires .

(B) 9 faex
(D) 7 faaex

In how many years will ¥ 15,625 amounts to T 17,576 at 4% p.a. compound interest?

(A) 2 years

(B) 3 years
I .
(C) 35 years (D) 4 years

RET ut & T 15,625 @1, 4% W T4 wmahg WS A1 4 ¥ Mg T 17,576 @ w7
(A) 2 o

(B) 3 =
(©) 3% ELl (D) 4=d

If "CLOUD" is coded as 59432 and "RAIN" is coded as 1678 then how "ARQUND"
is coded ? ' '

af "CLOUD" & 59432 ¥ g2 fram 7 & afic "RAIN" #1678 &1 e fear wan &

@ "AROUND" & 5§ W F2 fra smarm ¢
(A) 614382 (B) 614832
(C) 614582 (D) 614328

[ PT.O.
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Consider the given statements and conclusions and decide w lnch of the conclusion(s)
isfare true -

Statements Most ol the Doclors are Engincers. Nene of the Lngmccrs is a
Pitot. All Pilots are Doctors.
Conclusions (h Some Engineers are Doctors.

(If) All Doctors arc Pilots.
(IIl)  No Pilot is an Engineers.
(IV)  Some Pilots are Engineers.

(A} Oniy (I) Conclusion is true.

(B} Only (II) and (I11) Conclusion are true,
(Cy Only (I) and (1) Conclusion are true,
{(Dy (O, () and (IV) Conclusion are true.

%QWUW@WWWWHW@W&%WW@%@W%—

YTy HHIST Shaet, TMiaT € | g ¥ § o ) yraee 98 £ 1 g
TS 2T ¥ | . :
e (D & IoNTEL, Sl & |

(lI) 7N ey, amee ¥
(I = 4 e, Selifay =€ & )
(IV) 35 umEwe, svﬁﬁm% [

(A)y Fam () frerd @ ® |

(B) wEm (1) war (1) freed o=a &

(C) &aa (1) aur (1) frepd om ¥

Dy (D), A1) @ (V) Freed gog &

.. i : . !
Kamal invested 3 of his sum of money at 6% ) at 5% and the remainder at the rate
of 10% simple interest. If his annual income is ¥ 234.5 then his sum of money is -

1 | . '
AT A G BT — 0T 6%, — W‘TS%HEIT-‘EW 10% werreer =NT oY 5T § el wwer

5 2
¥ Uik suer aie oy € 234.5 ¥, o Suw oM ¥ -
(A) ¥ 2345 (B) T 3200
(CY ¥ 3500 - (D) ¥ 3750

The difference between simple intercst and compound interest on a sum of a money
at 4% rate ol interest per annum for 2 years is ¥ 40 then the sum is -
WWTWMWW&&T%Zﬁ%W@TWWWWNO
B W gE oum Uiy ¥ -
(A) T 20,000

{(C) T 28,000

If 50% of (x

aig (x—y) #50% = (x+ ) @ 30%, a ¥, x %1 Reqwr wRied ¥ 7
(A) 20% (B) 25%
(C) 30% (D) 50%

Y’ | | 26

B) % 25.000
(D) T 31,000

—y) = 30% of (ery), then what percent of x is y ?

[PTO.
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Select the figure showing the refation between lee. Water and Solid.

w6, O U B % AEg 9E€Y B 391 ae e @1 agd @it |
@) @ (8)

Q
(C) O (D)

C O
In a certain code language. SUN is writtcn as #%+ and BEND is written as x@* &
then' DUNE would be written in this language as :

s Fifyea s W, SUN &) #$+ Torar sman & a@en BEND @i i & forar war ¥ o @
qrar ¥ DUNE &t e smarm -
(A &*%@

(C)y =3&@

A 4 cm side cube is coloured then cut into | em cubes then the number of Lubes with
no colour on any plane is -

4%3&!%t{mwﬁwvﬂrﬁr%amlﬁ%w#mm%ﬁﬁﬁwﬁﬂw
mﬁﬁﬁrﬂﬁmwwqﬁ% T

By &S+
(D) &$lhs

(A) 4 {B) 8
(Cy 16 Dy 27
{0009 x 0,036 x 0.016 x 0.08
0.002 % 0.0008 x 0.0002 s equal to -
0.000 < 0.036 % 0.016 % 0.08
0.002 % 0.0008 x 0.0002  FELE -
(A) 34 B 6
©) 3.6 D) 36

Is cqual to -

-2yl

R R

N 2 | o
T B =3
o - | D) ——
© 5 ™ Yoo

[P1.0.



128 1f the statement 'mosi of the students are obedient’ is taken to be true. which one of

129

130

- {€C) Both (I) and (ID _ .
?ﬁ%%ﬁﬂ%qﬁﬁf@smwammiﬁ%a’rmﬁr%aﬂ%(I)ﬁm(ll)fé{@rnﬁ% | fe

47]

the following pair of statements can be claimed (o be true 7
(I} All obedient persons are students, (I} All students are obedicnt
(11f)y Some students are not obedient. (IV) Some students are obedient.

(A) (1) and (ID) (B) (I1) and (IV)
(C) (i1) and (111 (D) (NI) and (1V)

aﬁgaa;wa%wwm%"a&mﬁmﬁmwm%”ﬁﬁ%ﬁ%ﬁ@@m
q UF U TH G GE A TG & 7

(D ol aremerl =ofi, Rl 83 ¥ 0 (1) @ Rl eremare B ¥

(M) o faeed eramr S @3 & 1 (IV) 39 Rendt omemrd €38 ¥

{A) (1) g (ID) (B). () o (1V)
(C) (D) 5ar (111) (Dy (IID) @ (IV)

The missing term in the series 1, 4. 27, 16, 7, 36, 343, ... is -

Tawr 1, 4, 27, 16, 2. 36, 343, .. ¥ <9 @ ¥ -

{A) 30 (B) 49

(Cy 81 (D} 125

The following question consists of a statement followed by two courses of action (1)

and (II). Choose the appropriate course(s) of action from the given optlions -
Statement : The Central Bureau of Investigations (CBD reccives the

R

complaint of an officer taking bribe 1o do the duty he is supposed

to do.

(1) : CBI should try to catch the officer red-handed and then
take a strict action against him. ' :

() : CBI should wait for some more complaints about the
officer to be sure about the matter.

(B) Only (II)
(D) Either (I) or {i])

Courses of action :

(A) Only (1)

H&%Wﬁ@laﬁmw&ar&m(%s)aﬁw(aﬁ%)gﬁﬁ— .

G DR orwe =R (CBT) %t wh siftieerd) ara 08 i % Ry Ry
_ a A Rk W gl ¥, S wwen e ¥

wEEd & ales (1) t CBLERT aiftrbrdy 1 41 eta 9™t 7 Hifen & iy qur

6% W% SUF faais Bl GaE Hh ey | -

CBI =%t 37 fawg 4 frfyag €W & U gu ofic Rrswdl @

TIST BT TIRY | :

(A) &er (1) (B) waa (II)

(C) (1) T (1) ==t D) =mar (@) s (1)

Y 28

(1) :
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131 Frerffas & @ @ Rrevegr w8 6 b 7

(A) W& — orardr
(C) & - sre

(B) wmgr - wmH
(D) 8™ - &89
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(A) w99, TR, TR, Ry (B) wiww, W, Bg, TS
(C) w=s, srafer, e, ggex (D) Tethy, weRre, frod, @y

“Rell % e ¥ o o A= wH ¥ 0
SugFd e # fRW wer B eigfe ¥ 7

(A) UeHw e (B) waa™ dad

(C) wer wash (D) oifes wee wash
“RTEdl B das 9 &5

I9YAT TS b U GE s § -

(A) Tz (B) =¥

(C) heifemr (D) fredam

"Whisper" 3=t s/ & fou w@) =) gt ¥ -

(A) ot (B) wamud

(C) gt (D) =gl
“@w”ﬁmmﬁﬁﬁﬁrﬁf@aﬁm— :

(A) 7 + o (B) T+ twm

(C) M + Twon (D) *# + G

qre] T U R ut ygar ¥ 7

(A) &= 9T (B) Bw w

(C) &4 ut (D) wg T

Prfufaa & 4 aoda fra @1 TgT R -

(A) ga (B) T

(C) T (D) ot
.‘aﬁrﬂ-ﬂ’smﬂfa%w-mawﬁ%?

(A) ® s9at (B) wa suert

(C) vy Iwt (D) & It |
foadll & T A omEd W ¥ e we % R stae geew wn 0
(A) i T "= (By oFm WX T TEE
(C) zg Harm (D) wegT @l T @i
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141 Choose the correct negative form {without change of meaning) of the following

142

143

144

145
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sentence from the options given below :
She is somelimes clever.

(A) She is sometime not clever. (B) She is not sometime clever.
(C)y She is not always stupid. (D) She is never clever.

Choose the correct preposition from the options below and fill in the blank :

The rule is applicable _ _everyone.

(A) to _ {(B) in

{C) on (D) for

Choose the correct answer from the following options determining whether subject

“agrees in number with the verb :

(A) Just around the corner is a fantastic bakery and a small supermarket.

(B) After all the gardening we did, the sun shining on the flowerbeds make a
beautiful sight.

(C) Jack, along with some of his closest friends, is sharing a car to attend a wedding.

(D) There is, according to my doctar, many courses of treatment available to me.

Convert the following sentence into active voice from the options given below :
I have been invited to the party.

{A) Nonc has invited me to the party.

{B) -Everyone had invitcs.me to the party.

(C) Someone had invited me to the party.

(D) Someone has invited me to the party.

Convert the following sentence into direct'speech from the options that follow :
She asked it 1 would come with her. "

(A) She asked that, "'Will you come with me.

(B) She said, 'Will you come with me 7

(C) She requested. ‘'Will T come wiih her »

(1)) She said, 'Will 1 come with her ¥’
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146 Fill in the blank with one¢ of the correct options given below :

~ They
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him yesterday.
| (B) would see
(D) saw

(A) have seen

(C) seen

To form a new word the prefix "a—" can be added to which one of the following:
(A) true {B) care
(C) bed (D) lie

Change the following sentence to the interrogative form —
A wise man is honoured everywhere.

(A) Where is a wise man honoured ?

(B) Where ever is a wise man honoured 7

(C) Where is a wise man not hohoured ?

(D) Where isn't a wise man honoured 7

Insert 'a’, 'an' or 'the' in the blanks in the following sentence from the options :
citizen of New York .

{(B) A a

(D} A, the

man whom 1 spoke to is
(A) The, the
(C) The, a

The most apt translation of the following sentence in English will be
Wl HU AAYT JH W B )

Options :

{A) Make haste otherwise you will be late.l

(B) Make haste if you do not want to get late.

(C) If you make haste then only you will be on time.

(D) If you do not make haste, you will be late.
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